Catalog 4400 US
Visual Index

82 Series Fittings
Use with 801, 804, 821, 821FR, 836 hoses.

30182 B-190 | 31382 B-190 |30282 B-191 37G82 B-191
Pipe
Female - Swivel
Male - Rigid Male - Swivel Female - Rigid Gasket Joint
30382 B-191| 30682 B-192| 33782 B-192|33982 B-192|34182 B-192
D =T
Female - Swivel Female - Swivel Female - Swivel
Male - Rigid Female - Swivel 45° Elbow - Short 90° Elbow - Short 90° Elbow - Long
30482 B-193|30882 B-193|37782 B-193| 37982 B-193
Inverted
SAE
Female - Swivel Female - Swivel
Male - Rigid Female - Swivel 45° Elbow 90° Elbow
32882 B-194| 36782 B-194 | 36982 B-194 | 32982 B-194 3JC82 B-195
o Seal-Lok®

Q] LI

WM

Male - Swivel

Male - Swivel

S

O-Ring
Face Seal

¥

Female - Swivel

Male - Swivel 45° Elbow 90° Elbow Female - Rigid Short
3J782 B-195| 3J982 B-195 33482 B-196
g g Standpipe %
Female - Swivel Female - Swivel
45° Elbow 90° Elbow - Short 90° Elbow - Long Male - Rigid
38282 B-196 3D082 B-196 | 31D82 B-197 39282 B-197

Ty

B

=

Male Standpipe

¥

Push-Lok Union Male - Rigid Rigid Female - Swivel
3D982 B-197 |3B282 q B-197 34982 B-198 |AM B-198
Female - Swivel . . .
Male - Rigid 90° Elbow Metric - Banjo Banjo Bolt
3CA82 B-199| 3CF82 . B-199 3C482 B-199| 3C582 B-200| 3C382 B-200
&I D
Swivel - Swivel - 90° Elbow - | Swivel - 45° Elbow - Swivel -
24° Cone 24° Cone Ball Nose Ball Nose Ball Nose
B-188 Hose Products Division

Parker Hannifin Corporation
Wickliffe, Ohio
www.parkerhose.com




82 Series Fittings

Catalog 4400 US
Visual Index Use with 801, 804, 821, 821FR, 836 hoses.

Push-Lok B-201| Push-Lok B-202 82 Series B-203
Kits Merchandiser Assembly
Instructions
Assembly
Instructions
Push-Lok Hose Push-Lok Hose and
and Fitting Kits Fitting Display Case
B-189 Hose Products Division

Parker Hannifin Corporation
Wickliffe, Ohio
www.parkerhose.com




Catalog 4400 US 82 Series Fittings
Pipe Use with 801, 804, 821, 821FR, 836 hoses.

30182
Male NPTF Pipe - Rigid

A # Additional
B (YWWWYWWW @ <:> Material
WWMTI!':]_,H“ Part Thread |Hose I.D. A H B Stainless
| . - Number inch inch inch | mm | inch | inch | mm | Brass (B) | Steel (C)
30182-2-4 1/8x27 1/4 1.39 | 35 | 7/16 |0.64| 16 o (]
30182-4-4 1/4x18 1/4 157 | 40 | 9/16 |0.82| 21 . (]
H 30182-4-6 1/4x18 3/8 1.78 | 45 | 9/16 |0.88| 22 L] (]
30182-4-8 1/4x18 1/2 1.93| 49 | 5/8 [0.88| 22 o
30182-6-6 3/8x18 3/8 1.78 | 45 |11/16/0.88| 22 (] o
30182-6-8 3/8x18 1/2 1.93 | 49 |11/16/0.88| 22 (]
30182-8-6 1/2x14 3/8 2.03 | 52 7/8 | 1.13| 29 . °
30182-8-8 1/2x14 1/2 2.18 | 55 7/8 1113 | 29 ° °
30182-8-10 1/2x14 5/8 258 | 66 | 7/8 |1.13| 29 L]
30182-8-12 1/2x14 3/4 258 | 66 | 7/8 |1.13| 29 o
30182-12-8 3/4x14 1/2 221 | 56 3/4 (1.16| 29 [
30182-12-10 3/4x14 5/8 261 | 66 [1-1/16 1.16 | 29 [
30182-12-12 3/4x14 3/4 261 | 66 (1-1/16/1.16 | 29 o °
30182-16-16 | 1x11-1/2 1 3.06| 78 [1-3/8|1.61| 41 [ (]

31382
Male NPTF Pipe - Swivel

A
L5 # AAAAALL @ () Additional
—y—— N Part Thread Hose I.D. o o = Material
| — 1 Number inch inch inch | mm inch inch | mm Brass (B)
31382-4-4 1/4x18 1/4 1.60 41 9/16 0.85 22
31382-6-6 3/8x18 3/8 179 | 45 11/16 | 0.89 | 23
W 31382-8-8 1/2x14 1/2 220 | 56 7/8 115 | 29
31382-8-10 1/2x14 5/8 3.50 | 90 7/8 2.05 | 52 °
31382-12-12 3/4x14 3/4 3.70 | 94 1-1/4 | 225 | 57

O-Ring not compatible with Phosphate Ester fluids.

B-190 Hose Products Division
Parker Hannifin Corporation
Wickliffe, Ohio

www.parkerhose.com




Catalog 4400 US 82 Series Fittings
Pipe / JIC Use with 801, 804, 821, 821FR, 836 hoses.

30282
Female NPTF Pipe - Rigid

A
# (MAAAAAALY @ O Additional B
Part Thread | Hose I.D. A H B Material
Number | inch inch | inch | mm | inch | inch | mm | Brass (B) Lo |
30282-4-4 | 1/4x18 1/4 156 | 40 | 3/4 | 081 | 21 . - i
30282-6-6 | 3/8x18 3/8 182 | 46 | 7/8 | 092 | 23 .
30282-8-8 | 1/2x14 12 216 | 55 |1-1/16| 1.1 | 28 . y

37G82

Female NPSM Pipe - Gasket Joint - Swivel

A
# (WWWWA () { ) B|
Part Thread | Hose I.D. A w B

Number Gasket inch inch inch mm inch inch mm
37G82-4-4 | 07G-4 | 1/4x18 1/4 155 | 39 | 11/16 | 0.80 20 ] =
37G82-4-6 07G-4 | 1/4x18 3/8 1.70 43 11/16 | 0.80 20
37G82-6-6 07G-6 | 3/8x18 3/8 1.75 44 7/8 0.85 22 \_ W
37G82-8-8 07G-8 | 1/2x14 1/2 2.07 53 1 1.02 26
37G82-8-10 | 07G-8 | 1/2x14 5/8 2.47 63 1 1.02 26
37G82-12-12| 07G-12 | 3/4x14 3/4 2.54 65 1-1/4 1.09 28

Textile gasket included with fitting.

30382
Male JIC 37° - Rigid

A
# (AR @ () Additional B |
Part Thread Hose I.D. A H B Material
Number inch inch inch | mm | inch | inch |mm| Brass (B) - o
30382-4-4 1/4 | 7/16x20 1/4 1.56 | 40 12 | 0.81 | 21
30382-5-4 |5/16| 1/2x20 1/4 159 | 40 | 9/16 | 0.84 | 21
30382-6-6 3/8 | 9/16x18 3/8 1.78 | 45 5/8 | 0.88 | 22 ° H

30382-8-8 1/2 | 3/4x16 1/2 2.06 52 3/4 | 1.01 | 26
30382-10-10| 5/8 | 7/8x14 5/8 2.62 67 7/8 | 117 | 30
30382-12-12| 3/4 [1-1/16x12] 3/4 2.72 69 | 1-1/8 | 1.27 | 32

B-191 Hose Products Division
Parker Hannifin Corporation
Wickliffe, Ohio

www.parkerhose.com




Catalog 4400 US 82 Series Fittings
JIC Use with 801, 804, 821, 821FR, 836 hoses.

30682

Female JIC 37° - Swivel

A # @ <:> Additional

B AdAMAALL Material
Part Thread Hose I.D. A w B Brass |Stainless
Number inch inch |inch{mm| inch |inch | mm| (B) |Steel (C)

30682-4-4 | 1/4| 7/16x20 1/4 |1.52| 39 | 9/16 |0.77| 20 °
30682-5-4 |5/16| 1/2x20 1/4 1158/ 40 | 5/8 |0.83| 21
w 30682-5-6 |5/8| 1/2x20 3/8 |1.72| 44| 5/8 |0.82] 21
30682-6-4 | 3/8| 9/16x18 1/4  |1.61| 41 |11/16|0.86| 22
30682-6-6 | 3/8| 9/16x18 3/8 |1.75| 44 |11/16|0.85| 22
30682-6-8 | 3/8 | 9/16x18 1/2 |1.90| 48 | 11/16 |0.85| 22
30682-8-6 | 1/2| 3/4x16 3/8 |1.87| 47| 7/8 |0.97| 25
30682-8-8 | 1/2| 3/4x16 1/2 |2.02| 51| 7/8 |0.97| 25
30682-10-8 |5/8| 7/8x14 12 |214/54 | 1 [1.09| 28
30682-10-10 | 5/8 | 7/8x14 5/8 |2.54| 65 1 [1.09| 28
30682-12-12 | 3/4 |1-1/16x12 3/4 2.65| 67 | 1-1/4 |[1.20| 30
30682-16-16 | 1 [1-5/16X12 1 277/ 70 | 1-1/2 |1.32| 34

33782
Female JIC 37° - Swivel - 45° Elbow - Short Drop

# | o | (@) { ) )

Part Thread |Hose I.D. A E H w B
Number inch inch inch|mm | inch |mm | inch | inch | inch | mm
33782-4-4 | 1/4|7/16x20 1/4 1.74| 44 10.39| 10 | 7/16 | 9/16 | 0.99 | 25
33782-6-6 |3/8|9/16x18 3/8 1.99| 51 |0.43| 11 | 1/2 |11/16| 1.09 | 28
33782-8-8 |1/2| 3/4x16 1/2 2.58/ 66 |055| 14 | 5/8 | 7/8 | 1.53 | 39
33782-10-10|5/8 | 7/8x14 5/8 3.03| 77 |0.65| 17 | 3/4 1 1.58 | 40

A ° . °
5 Female JIC 37" - Swivel - 90" Elbow - Short Drop
—
= # | e | (@ KD
y Part Thread Hose I.D. A E H w B
E \LH Number inch inch inch |mm |inch |mm|inch | inch | inch | mm
33982-4-4 | 1/4| 7/16x20 1/4 1.55/39 |0.83| 21 | - | 9/16 | 0.80| 20

33982-6-6 |3/8| 9/16x18 3/8 1.85/ 47 |0.91| 23 | --- |11/16/0.95| 24
33982-8-8 |1/2| 3/4x16 1/2 2.33/59 [1.09/ 28 | 5/8 | 7/8 {128 33
33982-10-10|5/8 | 7/8x14 5/8 2.88| 73 [1.24| 31 | 3/4 1 143 | 36
33982-12-12| 3/4 [1-1/16x12 3/4 3.26| 83 |1.81| 46 | 7/8 |[1-1/4|1.81 | 46

B
ety 30182

Female JIC 37° - Swivel - 90° Elbow - Long Drop

# | v (@) ()< )

Part Thread Hose I.D. A E H w B
Number inch inch inch [mm | inch | mm | inch | inch |inch | mm
34182-4-4 1/4‘7/16x20 1/4 1.79| 45 |1.80| 46 | 7/16 | 9/16 | 1.04 | 26
34182-6-6 | 3/8 | 9/16x18 3/8 1.97| 50 |218| 55 | 1/2 |11/16 |1.07 | 27

m

B-192 Hose Products Division
Parker Hannifin Corporation
Wickliffe, Ohio
www.parkerhose.com




82 Series Fittings
Use with 801, 804, 821, 821FR, 836 hoses.

Catalog 4400 US
SAE

30482

Male SAE 45° - Rigid

A
# vy | (@) () :
Part Thread Hose I.D. = = = o
Number inch inch inch mm inch inch | mm |
30482-4-4B 1/4 7/16x20 1/4 1.51 38 7/16 0.76 19
30482-5-4B 5/16 1/2x20 1/4 1.61 41 9/16 0.86 | 22
30482-6-6B 3/8 5/8x18 3/8 1.84 47 5/8 094 | 24 H
30482-8-8B 1/2 3/4x16 1/2 2.15 55 3/4 1.10 | 28
Female SAE 45° - Swivel
A
# ML @ O Additional ‘i"l
Part Thread Hose I.D. A w B Material
Number inch inch inch | mm | inch |inch |mm| Brass (B)
30882-4-4 1/4 | 7/16x20 1/4 152 | 39 | 9/16 | 0.77 | 20 ° | ~ B
30882-5-4 5/16 | 1/2x20 1/4 1.58 | 40 5/8 |0.83 |21 °
30882-6-6 3/8 | 5/8x18 3/8 1.81 46 3/4 |10.91 23 ° w
30882-8-6 1/2 | 3/4x16 3/8 1.87 | 47 7/8 |0.97 | 25 °
30882-8-8 1/2 | 3/4x16 1/2 2.02 | 51 7/8 |0.97 | 25 °
30882-10-10 | 5/8 | 7/8x14 5/8 254 | 65 1 1.09 | 28 °
30882-12-12 | 3/4 |1-1/16x14 3/4 2.65 67 | 1-1/4 |1.20 | 30 o
Female SAE 45° - Swivel - 45° Elbow
# | v | (@) 2K )
Part Thread Hose I.D. A E H w B
Number inch inch inch | mm | inch | mm | inch | inch | inch | mm
37782-4-4 | 1/4|7/16x20 1/4 1.79| 45 |0.33| 8 |7/16|9/16|1.04| 26
37782-6-6 |3/8| 5/8x18 3/8 2.08| 53 [0.39| 10 | 1/2 | 3/4 |1.18| 30
37782-8-8 |1/2| 3/4x16 1/2 258 | 66 |0.55| 14 | 5/8 | 7/8 | 1.63| 39
Female SAE 45° - Swivel - 90° Elbow
A
# | oo | (@ e I
Part Thread Hose I.D. A E H w B %
Number inch inch inch | mm | inch | mm | inch | inch | inch | mm i
37982-4-4 | 1/4|7/16x20 1/4 1.60| 41 |0.83| 21 |7/16|9/16 |0.85| 22 E \L
37982-6-6 |3/8| 5/8x18 3/8 1.98| 50 |0.85| 22 | 1/2 | 3/4 |1.08 | 27 H
37982-8-8 |1/2| 3/4x16 1/2 2.33| 59 |1.09| 28 | 5/8 | 7/8 |1.28 | 33 . W
Notch in nut signifies 45° flare.
B-193 Hose Products Division

Parker Hannifin Corporation
Wickliffe, Ohio
www.parkerhose.com




Catalog 4400 US 82 Series Fittings
Inverted SAE Use with 801, 804, 821, 821FR, 836 hoses.

32882
Male Inverted SAE 45°- Swivel

A

BN # | e | (@)  JIK )

| Part Thread | Hose LD. o
% Number inch inch | inch | mm | inch | inch | inch | mm
32882-3-4 |3/16| 3/8x24 1/4 215 | 55 3/8 3/8 1.40 36
L 32882-4-4 1/4 |7/16x24 1/4 2.15 55 716 | 716 | 1.40 36
wW H 32882-5-4 |5/16| 1/2x20 1/4 2.31 59 7/16 1/2 1.56 40
32882-6-6 3/8 | 5/8x18 3/8 2.58 | 66 1/2 5/8 1.68 43

32882-8-8 1/2 | 3/4x18 1/2 282 | 72 5/8 3/4 1.77 45
32882-10-10| 5/8 | 7/8x18 5/8 3.34 | 85 3/4 7/8 1.89 48

36782
Male Inverted SAE 45°- Swivel - 45° Elbow

A
- # | v | (@) C K )
| Part Thread Hose I.D. A E H w B
#7 Number inch inch inch | mm | inch | mm | inch | inch | inch | mm
” 36782-4-4 1/4 | 7/16x24 1/4 1.92| 49 (063 | 16 |7/16 |7/16 | 1.17| 30
E 36782-6-6 3/8| 5/8x18 3/8 264 | 67 094 | 24 | 1/2 | 5/8 |1.74| 44
H

36982
Male Inverted SAE 45° - Swivel - 90° Elbow

# | ey | (@) (K )

Part Thread Hose I.D. A E H w B
Number inch inch inch | mm | inch | mm | inch | inch | inch | mm
36982-4-4 | 1/4 | 7/16x24 1/4 1.99| 51 |1.56| 40 | 7/16 | 7/16 | 1.24 | 31
36982-5-4 |5/16| 1/2x20 1/4 217 | 55 |1.65| 42 |7/16| 1/2 | 1.42| 36
36982-6-6 | 3/8 | 5/8x18 3/8 2.30| 58 |1.69| 43 | 1/2 | 5/8 | 1.40| 36

32982
Female Inverted SAE 45° - Rigid

A
B # [WWWWA C) ( )
Part Thread Hose I.D. A H B
1 Number inch inch inch | mm inch inch mm
7 | 32982-4-4B 1/4 | 7/16x24 1/4 1.19 30 1/2 0.44 11

32982-5-4B 5/16 | 1/2x20 1/4 1.25 32 9/16 0.50 13
\L 32982-6-6B 3/8 5/8x18 3/8 1.44 37 3/4 0.54 14
H 32982-8-8B 1/2 3/4x18 1/2 1.62 41 7/8 0.57 14

B-194 Hose Products Division
Parker Hannifin Corporation
www.parkerhose.com




Catalog 4400 US 82 Series Fittings
Seal-Lok® Use with 801, 804, 821, 821FR, 836 hoses.

3JC82

Female Seal-Lok® - Swivel - Short
ISO 12151-1 - SWSA

Additional

# (YWWWW @ <:> <:> Material
Part Thread |Hosel.D.| A c H w B Brass |Stainless
Number inch inch |inch mm|inch |mm| inch | inch |inch|mm | (B) |Steel (C)

3JC82-4-4 1/4| 9/16x18 1/4 |1.40|/36|0.32| 8 | 9/16 |11/16|0.65| 17 °

3JC82-6-6 |3/8|11/16x16 3/8 [1.59/40|0.38/ 10 |11/16|13/16|0.69| 18 (]

3JC82-6-6SM|3/8|11/16x16 3/8 1.59|/40/0.38| 10 |19mm|22mm| 0.69 |18
3JC82-8-6 1/2|13/16x16 3/8 1.65|42/0.38| 10 | 13/16 | 15/16 |0.76| 19

3JC82-8-8 1/2/13/16x16 1/2 1.80(46|0.43| 11 [13/16|15/16|0.75| 19 [
3JC82-10-10 |5/8| 1x14 5/8 2.40|61|0.53| 13 |15/16| 1-1/8 |0.95| 24

3JC82-12-12 |3/4|1-3/16x12 3/4 2.63|67|0.57| 14| 1-1/8 | 1-3/8 |1.18| 30 [
3JC82-16-16 | 1 |1-7/16x12 1 2.61|66|0.58| 15| 1-3/8 | 1-5/8 |1.16| 29 L] [
When measuring overall length to the end of the nut, B+C dimensions must be used to calculate cut-off allowance.
3J782

Female Seal-Lok® - Swivel - 45° Elbow
ISO 12151-1 - SWE45

A
# [WWWWW <:> <>
Part Thread Hose I.D. A E w B
Number inch inch inch | mm | inch | mm | inch | inch | mm

3J782-4-4 1/4 | 9/16x18 1/4 1.74| 44 | 0.39| 10 |11/16|0.99 | 25
3J782-6-6 3/8 | 11/16x16 3/8 199 | 51 |0.43| 11 |13/16|1.09 | 28
3J782-8-8 1/2 | 13/16x16 1/2 241] 61 1059 15 |15/16|1.36 | 35

3J982

Female Seal-Lok® - Swivel - 90° Elbow - Short Drop
ISO 12151-1 - SWES90

A
# [WWWWA <:> ) _ B
Part Thread Hose I.D. A E w B —
Number inch inch inch | mm | inch | mm | inch | inch | mm L
3J982-4-4 1/4 | 9/16x18 1/4 1.55| 39 | 0.83| 21 |11/16|0.80| 20 .
3J982-6-6 3/8 | 11/16x16 3/8 1.85| 47 |0.91| 23 |13/16|0.95| 24 E

3J982-6-8 3/8 | 11/16x16 1/2 2.09| 53 | 0.91| 23 |13/16|1.04 | 26
3J982-8-6 1/2 | 13/16x16 3/8 1.94| 49 |1.14| 29 |15/16|1.04 | 26

3J982-8-8 1/2 | 13/16x16 1/2 216 | 55 | 1.14| 29 |15/16|1.11 | 28 w
3J982-10-10 | 5/8 1x14 5/8 276 | 70 |1.26| 32 [1-1/8 | 1.31 | 33
3J982-12-12 | 3/4 | 1-3/6x12 3/4 3.27| 83 | 1.89| 48 | 1-3/8 |1.82 | 46
- A
3J182 .8
Female Seal-Lok® - Swivel - 90° Elbow - Long Drop %
ISO 12151-1 - SWEL90 .
# ey (@) ( ) -
Part Thread Hose I.D. A E w B i
Number inch inch inch | mm | inch | mm | inch |inch | mm
3J182-6-6 3/8 | 11/16x16 3/8 1.85| 47 |2.13| 54 | 13/16 | 0.95| 24 W
3J182-8-8 1/2 | 13/16x16 1/2 216 | 55 |2.52 | 64 | 15/16 | 1.11 | 28 -

See Accessories Section for O-Rings.

B-195 Hose Products Division
Parker Hannifin Corporation
Wickliffe, Ohio

www.parkerhose.com




Catalog 4400 US 82 Series Fittings
Standpipe / Union / Metric L Use with 801, 804, 821, 821FR, 836 hoses.

33482
Male Standpipe - Rigid - (Inch Size Tube 0O.D.)
. A # Additional
— Material
1 Part R |Hose lD. A D B Brass | Stainless
RI___ - L Number | inch inch inch |mm |inch| mm | inch | mm | (B) Steel (C)
:[IZU—U]I 33482-4-4 1/4 1/4 1.89| 48 |1.02| 26 |1.14| 29 (] o
D 33482-5-4 5/16 1/4 1.93| 49 |{1.08| 27 |1.18 | 30 (]
33482-6-6 3/8 3/8 2.23| 57 |1.22] 31 |1.33| 34 (]
33482-8-8 1/2 1/2 2.16| 55 0.97| 25 [1.11| 28 o
33482-10-10, 5/8 5/8 2.62| 67 |[1.00| 25 [1.17| 30 o
33482-12-12| 3/4 3/4 2.62| 67 |[1.00] 25 [1.17| 30 . [
38282
Push-Lok Union
A
L OO # @ Additional
= = Part Hose I.D. A Material
:ID*U]:U—[IILU]I Number inch inch | mm | Brass (B)
38282-4-4 1/4 1.80 | 46 °
38282-6-6 3/8 2.15| 55 [
38282-8-8 1/2 251 | 64 [
38282-10-10 5/8 3.31| 84 °
38282-12-12 3/4 3.31| 84 [
38282-16-16 1 3.31| 84 .
3D082
Male Metric L - Rigid - (24° Cone)
B a # (WY @ ()
— Part Thread Hose I.D. A H B
‘ Number mm inch inch mm mm inch mm
+ i B 3D082-6-4 6 |M12x1,5 1/4 1.34 34 12 0.55 14
3D082-8-4 8 [M14x1,5 1/4 1.38 35 14 0.59 15
H 3D082-10-6 10 | M16x1,5 3/8 1.57 40 17 0.63 16
3D082-12-6 12 | M18x1,5 3/8 1.61 41 19 0.67 17

B-196 Hose Products Division
Parker Hannifin Corporation
www.parkerhose.com




Catalog 4400 US 82 Series Fittings
Metric L / BSP Use with 801, 804, 821, 821FR, 836 hoses.

31D82
Male Standpipe Metric L - Rigid

@O ]
B
Part R Hose I.D. A D B a
Number mm inch inch mm inch mm inch mm Rii_ N 1

31D82-6-4 6 1/4 1.73 44 0.87 22 0.98 25 1 | [L]
31D82-8-4 8 1/4 1.73 44 0.87 22 0.98 25 —F»l
31D82-10-6 10 3/8 1.93 49 0.91 23 1.02 26
31D82-12-6 12 3/8 1.93 49 0.91 23 1.06 27
31D82-15-8 15 1/2 217 55 0.98 25 1.10 28
31D82-18-10 18 5/8 2.64 67 1.02 26 1.10 28
31D82-22-12 22 3/4 272 69 1.10 28 1.22 31

39282
Female BSP Parallel Pipe - Swivel - (60° Cone)

A
vy @ () Additional c B
Part Thread |Hose I.D. A ¢ w B Material 4><__|
Number inch inch inch | mm |inch | mm | mm |inch |mm| Brass (B)

39282-4-4 1/4x19 1/4 1.34| 34 |022| 6 17 |0.55| 14 %
39282-6-6 3/8x19 3/8 1.50| 38 [0.26| 7 19 |0.55| 14 .
39282-8-8 1/2x14 1/2 1.77| 45 [0.28| 7 27 |1.06 | 27 W
39282-12-12 | 3/4x14 3/4 2.13| 54 |0.35| 9 36 |1.42| 36

When measuring overall length to the end of the nut, B + C dimensions must be used to calculate cut-off
allowances.

3D982
Male BSP Parallel Pipe - Rigid - (60° Cone)

# (@) () .
B
Part Hose I.D. A H B

Number inch inch mm mm inch mm
3D982-2-4 1/4 1.42 36 14 0.63 16 @
3D982-4-4 1/4 1.61 41 19 0.83 21
3D982-4-6 3/8 1.77 45 19 0.83 21 \
3D982-6-6 3/8 1.77 45 22 0.87 22 H
3D982-8-8 1/2 2.09 53 27 0.98 25
3D982-8-10 5/8 2.44 62 27 0.94 24
3D982-12-12 3/4 2.56 65 32 1.06 27
Bonded seal required if fitting is used directly in a port. See Accessories Section.
3B282
Female BSP Parallel Pipe - Swivel - 90° Elbow - (60° Cone) R

# e e

Part Thread | Hose I.D. A E w B
Number inch inch inch | mm | inch | mm mm | inch | mm
3B282-4-4 1/4x19 1/4 1.65 42 1 1.02| 26 17 1.02 26
3B282-6-6 3/8x19 3/8 2.09 53 |1.18 | 30 19 1.18 30 E

3B282-8-8 1/2x14 1/2 256 | 65 | 157 | 40 27 | 1.57 | 40
3B282-10-10| 5/8x14 5/8 299 | 76 |1.57| 40 30 | 1.57 | 40

B-197 Hose Products Division
Parker Hannifin Corporation
Wickliffe, Ohio
www.parkerhose.com




Catalog 4400 US 82 Series Fittings
Banjo Use with 801, 804, 821, 821FR, 836 hoses.

34982
DIN Metric Banjo

Part R Hose I.D. A B

Number mm inch inch mm inch mm
34982-8-4 8 1/4 1.42 36 0.63 16
34982-10-4 10 1/4 1.50 38 0.71 18
34982-12-4 12 1/4 1.57 40 0.79 20
34982-12-6 12 3/8 1.73 44 0.79 20
34982-14-4 14 1/4 1.65 42 0.87 22
34982-14-6 14 3/8 1.85 47 0.91 23
34982-16-6 16 3/8 1.93 49 0.98 25
34982-18-8 18 1/2 217 55 1.06 27

AM
Banjo Bolt with DIN Metric Thread

I R # oo, )
R Copper
H Part Thread H Washer
Number mm mm (2)
AM-03 8 M8x1 12 853009-8
AM-04 10 M10x1 14 853009-10
AM-06 12 M12x1.5 17 853009-12
AM-08 14 M14x1.5 19 853009-14
AM-10 16 M16x1.5 22 853009-16
AM-13 18 M18x1.5 24 853009-18
AM-16 22 M22x1.5 27 853009-22
AM-20 26 M26x1.5 32 853009-26
AM-30 30 M30x1.5 36 853009-30

Two (2) copper washers per bolt must be ordered separately.

B-198 Hose Products Division
Parker Hannifin Corporation
Wickliffe, Ohio

www.parkerhose.com




82 Series Fittings
Use with 801, 804, 821, 821FR, 836 hoses.

Catalog 4400 US
Metric L

3CA82

Female Metric L - Swivel - (24° Cone with O-Ring)
ISO 12151-2 - SWS

A
# (P (@) () 5
Part Thread Hose I.D. A w B ’_.|
Number inch inch inch | mm mm inch mm
3CA82-8-4 8 | M14x1,5 1/4 142 | 36 17 | 067 | 17 )
3CA82-10-6 10 | M16x1,5 3/8 157 | 40 19 | 067 | 17
3CA82-10-6B | 10 | M16x1,5 3/8 157 | 40 19 | 067 | 17
3CA82-12-6 12 | M18x1,5 3/8 157 | 40 | 22 | 067 | 17 w
3CA82-15-8 15 | M22x1,5 1/2 173 | 44 | 27 | o071 | 18
3CA82-22-12 | 22 | M30x2 3/4 228 | 58 | 36 | 0.83 | 21
3CF82

Female Metric L - Swivel - 90° Elbow - (24° Cone with O-Ring)
ISO 12151-2 - SWE

A |
# (AW C) ) . B ‘
Part Thread |Hose I.D. A E w B
Number inch inch inch | mm |inch | mm | mm |inch | mm - -

3CF82-8-4 8 |M14x1,5| 1/4 1.65 | 42 [1.26| 32 17 |0.91| 23
3CF82-10-6 | 10 |M16x1,5| 3/8 193 | 49 [1.38| 35 19 |1.06| 27 /
3CF82-10-6B | 10 |M16x1,5/ 3/8 193 | 49 [1.38| 35 19 |1.06 | 27 E f
3CF82-12-6 12 |M18x1,5 3/8 1.93 49 | 142 | 36 22 [1.06 | 27
3CF82-15-8 | 15 M22x1,5| 1/2 228 | 58 |[1.61| 41 27 |1.26| 32 [ }/‘W
3CF82-22-12 | 22 | M30x2 3/4 3.46 | 88 |2.17 | 55 36 |2.01| 51
3C482
Female Metric L - Swivel - 45° Elbow - (Ball Nose)
End Connection per ISO 8434-1-SWOE

# (YW C) )

Part Thread Hose I.D. A E w B

Number inch inch inch | mm | inch |mm| mm | inch | mm
3C482-8-4B 8 |M14x1,5 1/4 201 | 51 | 063 |16 | 17 |1.26| 32
3C482-10-6B | 10 | M16x1,5 3/8 228 | 58 | 0.71 |18 | 19 | 1.38| 35
3C482-15-8B | 15 | M22x1,5 1/2 268 | 68 | 0.75 |19 | 27 |[1.61| 41
3C482-22-12 | 22 | M30x2 3/4 346 | 88 | 091 |23 | 36 |2.05| 52
B-199 Hose Products Division

Parker Hannifin Corporation
Wickliffe, Ohio
www.parkerhose.com



82 Series Fittings
Use with 801, 804, 821, 821FR, 836 hoses.

Catalog 4400 US
Metric L

3C582

Female Metric L - Swivel - 90° Elbow - (Ball Nose)
End Connection per ISO 8434-1-SWOE

A ,
B # (YWY @ ()
A E w B
Part Thread Hose I.D.
_ - Number inch inch inch | mm |inch | mm | mm | inch | mm
3C582-8-4B 8 | M14x1,5 1/4 1.65 | 42 |1.14| 29 17 | 0.91 | 23
/ 3C582-10-6B | 10 | M16x1,5 3/8 193 | 49 |1.30| 33 19 | 1.06 | 27
E 3C582-15-8B | 15 | M22x1,5 1/2 236 | 60 |1.54| 39 27 | 1.34 | 34
W 3C582-22-12B| 22 | M30x2 3/4 346 | 88 [197]| 50 | 36 | 2.01 | 51
=
Female Metric L - Swivel - (Ball Nose)
End Connection per ISO 8434-1-SWOS
A
B # (VY (@) ( )
Part Thread Hose I.D. A w B
Number inch inch inch | mm mm inch | mm
ﬂ 3C382-8-4B 8 M14x1,5 1/4 142 | 36 19 0.63 16
[I]]]IUJI 3C382-10-6B | 10 | M16x1,5 3% | 150 38 | 19 | 059 15
3C382-15-8B 15 M22x1,5 1/2 1.65 | 42 27 0.59 15
'\— 3C382-22-12B | 22 M30x2 3/4 2.09 | 53 36 0.67 17
w
B-200 Hose Products Division

Parker Hannifin Corporation

Wickliffe, Ohio

www.parkerhose.com




Catalog 4400 US 82 Series Fittings
Push-Lok Kits

Parker Push-Lok® Kits

Parker Push-Lok Kits are for industrial and automotive maintenance and repair shops. They
provide a low-cost inventory of Push-Lok hose and fittings packaged in a sturdy metal container.
They save time and money on hose line replacements for water, air lubricating oils, anti-freeze
solutions and vacuum applications.

Kit Contents Quantity Kit Contents Quantity
Hose Male Inverted Swivel
831-4 (1/4”1.D.) 24 ft. 32882-3-4 3
831-6 (3/8”1.D.) 24 ft. 32882-4-4 5
Male Pipe 32882-5-4 5
30182-2-4B 8 32882-6-6 3
30182-4-4B 5 Female Inverted Rigid
30182-4-6B 5 32982-3-4B 3
30182-6-6B 6 32982-4-4B 3
Male SAE 45° 32982-5-4B 5
30482-4-4B 2 32982-6-6B 3
30482-6-6B 3 Hose Union
SAE (JIC) 37° Female Swivel 38282-4-4B 4
30682-6-6B 5 38282-6-6B
SAE 45° Swivel
30882-4-4B 5
30882-5-4B
Part No. 46-83A 30882-6-68

B-201 Hose Products Division
Parker Hannifin Corporation
Wickliffe, Ohio

www.parkerhose.com




Catalog 4400 US 82 Series Fittings
Push-Lok Merchandiser

Parker Push-Lok® Merchandiser
PLM-1 (801 Multi-Purpose Hose)

The Push-Lok® Merchandiser is an ideal
method of displaying Push-Lok in will-call
areas, maintenance shops, or other areas
where air lines are fabricated.

Features

e PLM -1
Hose Quantity Size
801-4 300 Feet 1/4” 1.D.
801-6 375 Feet 3/8” 1.D.
801-8 100 Feet 1/2” 1.D.

» 25 each of the following fittings:
30182-4-4B 30682-4-4B 30882-6-6B
30182-6-6B 30682-6-6B
30182-8-8B 30682-8-8B

e Fitting drawers to store up to 18 different styles/
sizes of fittings.

e TH11-1 hand held hose cutter.

B-202 Hose Products Division
Parker Hannifin Corporation
www.parkerhose.com



Catalog 4400 US 82 Series Fittings
Assembly Instructions

82 Series

Assembly Instructions

1. Identify over all length (OAL) of hose assembly and the cut off
allowance (COA) length of fitting(s) on hose ends by use of
the fitting data table.

2. Properly measure and mark hose. Cut hose squarely with a
‘ Parker Push-Lok cut-off tool or a sharp knife.
<«———OoAL——>
1]

3. Lubricate the Push-Lok fitting, hose I.D., or both with light
oil or soapy water only - DO NOT USE HEAVY OIL OR
OAL : Straight to 90° Elbow GREASE.

4. Insert fitting into hose until first barb is in the hose.

5. Place end fitting against a flat object such as a work bench or
wall. Grip hose approximately one inch from end and push
with a steady force until the end of the hose is covered by the
yellow plastic cap.

Disassembly Instructions

1A. Leave fitting in place, and cut hose approximately one inch
lengthwise from the yellow plastic cap. IMPORTANT: Be
careful not to nick barbs when cutting hose.

2A. Grip hose firmly and give it a sharp downward tug away
from the fitting for disassembly.

Caution: Insert the Push-Lok fitting all the way into the Push-
Lok hose until the cut end is concealed by the yellow
plastic cap.

Caution: Sealing integrity may be damaged by use of exterior
clamps.

IF YOU HAVE QUESTIONS CONCERNING THE PRODUCTS
OR APPLICATION OF THE PRODUCTS CONTAINED IN THIS
CATALOG, PLEASE CALL:

PARKER HOSE PRODUCTS DIVISION
TECHNICAL SERVICES DEPARTMENT
PHONE: 440 / 943-5700
FAX: 440/ 943-3129
http://www.parkerhose.com

B-203 Hose Products Division
Parker Hannifin Corporation
Wickliffe, Ohio
www.parkerhose.com



Catalog 4400 US
Notes

Hose Products Division

B-204 cf )
Parker Hannifin Corporation
Wickliffe, Ohio
www.parkerhose.com






